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أشخاص مرشحین 7عدد الطریق التي یمكن من خلالھا اختیار مدیر مدرسة ومساعد لھ من ضمن ام

للمنصبین؟

فھذا یعني أنھ مثال على التبادیل، ولحساب عدد الطرق بما أن السؤال اشترط الترتیب أثناء الاختیار،الحل:

أشخاص مع الاھتمام بالترتیب نستخدم قانون التبادیل كالآتي:7الممكنة لاختیار شخصین من ضمن 

푃(푛, 푘) = 푃(7,2) = 푛!
(푛 − 푘)! = 7 × 6 × 5!

5! = 42

أشخاص مرشحین 7إذًا نستنتج أن عدد الطرق التي یمكن من خلالھا مدیر مدرسة ومساعد لھ من ضمن 

طریقة.42للمنصبین ھو 

 لیؤدي كل منھم تخرج لا؛ لحفل 10طلاب من ضمن 3ما عدد الطرق التي یمكن من خلالھا اختیار

ا محددًا في الحفل، بحیث یكون الطالب الأول ھو مقدم الحفل، والطالب الثاني ھو مسؤول الفرقة  دورً

الموسیقیة، والطالب الثالث ھو المسؤول عن عملیة تنظیم الحفل؟

ختیار، فھذا یعني أنھ مثال على التبادیل، ولحساب عدد الطرق بما أن السؤال اشترط الترتیب أثناء الا

مع الاھتمام بالترتیب نستخدم قانون التبادیل كالآتي:10طلاب من ضمن 3الممكنة لاختیار 

푃(푛, 푘) = 푃(10,3) = 10!
(10 − 3)! = 10 × 9 × 8 × 7!

7! = 720

؛ لحفل تخرج المدرسة لیؤدي 10طلاب من ضمن 3إذاً نستنتج أن عدد الطرق التي یمكن من خلالھا اختیار 

ا محدداً في الحفل، أي مع الاھتم   طریقة720ام بترتیب الطلبة أثناء الاختیار؛ ھو كل منھم دورً

 كرة مختلفة؛ أوجد عدد الطرق التي یمكن استخدامھا 12إذا علمت أن صندوق مربع یحتوي على

كرة الموجودة فیھا؟12كرات من ضمن الـ 4لاختیار 

كرة الموجودة في الصندوق دون 12كرات من ضمن الـ 4بما أن السؤال لم یشترط الترتیب، لأننا نرید 

یعد مثالاً على التوافیق، ولحساب عدد الطرق الممكنة نستخدم قانون التوافیق أھمیة لترتیب الاختیار، فإن ھذا 

كالآتي:
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퐶(푛, 푘) = 퐶(12,4) = 푛!
푘! (푛 − 푘)! = 12 × 11 × 10 × 9 × 8!

4! (12 − 4)!

퐶(12,4) = 12 × 11 × 10 × 9
4 × 3 × 2 × 1 = 11 × 5 × 9

1 = 495

كرة من  12كرات من ضمن  4وھكذا نكون قد توصلنا إلى أن عدد الطرق التي یمكن من خلالھا اختیار 

.مرة 495الكرات الموجودة في الصندوق؛ دون الاھتمام بالترتیب، ھو 
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In how many different ways can the letters of the word 'LEADING' be arranged in such a 

way that the vowels always come together

In how many ways can the letters of the word 'LEADER' be arranged?

http://www.iceni.com/unlock-pro.htm


Statistical Thermodynamic                                                                         Chapter (1) / Probability

12                                 Qar-/ Science college / The University of ThiLecturer Prof. Dr. Ahmed H. Flayyih  

Out of 7 consonants and 4 vowels, how many words of 3 consonants and 2 vowels can be 

formed?
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In how many ways a committee, consisting of 5 men and 6 women can be formed from 8 
men and 10 women?

In how many ways can a group of 5 men and 2 women be made out of a total of 7 men and 
3 women?
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How many 4-letter words with or without meaning, can be formed out of the letters of the 
word, 'LOGARITHMS', if repetition of letters is not allowed?

Answer: Option C
Explanation:

'LOGARITHMS' contains 10 different letters. Required number of words=Number of 
arrangements of 10 letters, taking 4 at a time.

푃(푛, 푘) = 푃(10,4) = 10 × 9 × 8 × 7 = 5040

Answer

i. 푃(푛, 푘) = 푛� = 5�

ii. 푃(푛, 푘) = 푃(5,3) = 5 × 4 × 3

How many 4-letter code can be formed using the first 10 letters of the English 
alphabet, if no letter can be repeated?

Answer

푃(푛, 푘) = 푃(10,4) = 10 × 9 × 8 × 7
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How many 5-digit telephone numbers can be constructed using the digits 0 to 9 if 

each number starts with 67 and no digit appears more than once?

Answer:

푃(푛, 푘) = 푃(8,3) = 8 × 7 × 6

A coin is tossed 3 times and the outcomes are recorded. How many possible 

outcomes are there?

Answer :

푃(푛, 푘) = 푃(2,3) = 2� = 8
Given 5 flags of different colours, how many different signals can be generated if 

each signal requires the use of 2 flags, one below the other?

Answer :

푃(푛, 푘) = 푃(5,2) = 5 × 4 = 20
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1.4 Import types of statistical distribution

There are seven types of import distributions that often occur in real-life data.
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